3A8H~12H

8 (RA) 9 (W) 10 (JK) 11 (K) 12 (&)
gz | amm | o= e | A-BEE | ox= Bz A= oz Bz A= o= gz | amm | o=
B* % Kigbxr 11 :00~
11:00 5] B ®TR 1200~
~ | & #
11 : 45 I® B 2 e TH 1230~
E —
ZE £ F
% T i
11: 50 N 7.3
7, = & g g g
12: 35 1'h E 24 % #
K + = = =
B E =] =] =]
] ] 23
75\ B B B
13:05 ? i& i& i&
ES ES B ES
13150
B [FES Ta—X
(M) (HLH) (KA
A= B —ThEE WTLBMTEET, BRLMTE
. BYEL LS, BYETT, .
, BEES 2 —R LB ELT 2 DBMEE 5%oTHM
14100 WRETSMLTL & BHELLTVET &, LTS
~ (AN LY,
15:25 A% B T IEAEY )

IZFEo2TLEE !

SR TESRIFENPET LI T,
AR LIZ4B8AETCCT, 4AIBOHFII Lo LT L L)




